Lomb-Scargle Periodogram

0.12
0.10
GL) 0.08 A g
= —— Data i
g 0.06 —— Period: 7.13 epochs
0.04 === 999% FAP (Power = 0.5)
' Data - Fourier Fit 1
0.02 ““l Period: 7.13 epochs
“um d 99% FAP (Power = 0.5)
0.00 L‘l —— r r —————
101 102 103
40 - Period [epoch]
-== Linear Fit (BIC: -237.11) best
30 7 —— Fourier Fit 1st (BIC: -234.21) below 99% FAP
20 - Fourier Fit 2nd (BIC: -227.67) below 99% FAP
= ¢ Data
E 1o
— Q) romsmmom s b i . O - *m b«v
Q
@) —10 A
_20 .
_30 _
—1200 —1000 —800 —600 —400 —200 0
Epochs
40 A b
1-sigma region
301 3-sigma region
20 A * * ¢ Data
g 10 - |
— 0 o ot * o ** o o o oo ' . {
Q
@) —10 A |
—20 A *
~301 }
0.0 0.2 0.4 0.6 0.8 1.0
Phase (Period: 7.13 epochs)
1-sigma regqi
100 - .g g!on
—_ 3-sigma region
= 4 Data - Fourier Fit 1
50
" ¢ g }
o 0 - t ) ) L o o0 4 $ o o o o* U] o &
- * *
o [ ]
‘v =50 A
Q
o
—100 A
0.0 0.2 0.4 0.6 0.8 1.0

Phase (Period: 7.13 epochs)




